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1 (a) Youare given

(i) Work out.

(a) B-

(b)

(©)

(d)
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C

3D

BA

B2

Answer (@)(A)(@) ....covvevceveecieiiieeieiie e [2]
Answer (@) (1)(D) ...cc.oeveeveeeiiiiiieiieceeeeeeee [2]
ANSWer (@) (1)(C) cvveveveeeerieeiieiieee e, [2]

Answer (a)(1)(d) [3]
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00
(ii) Find matrix E such that C+E :(0 Oj .

Answer (a)(ii) E = [2

o (026 e )

Write down the values of ¢, b, ¢ and d.

Answer (b) a = ..........cccoiiiiiiiiiiii e

A= oo [1]

30y
© (1 4)|-1 2|=(36 25
7 2

Find the values of x and y.

ARSWEF (C) X = oot e
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(d) Write down the order of this matrix (-2 1).
Answer (d) ..o, [1]
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2 (@ f(x)=2x-landg(x)=2-3x.
(i) Find f(2).
ANSWEF (A)(1) veeveerieiieieeie e [1]
(ii) Iff(x) = g(x), find the value of x.
Answer (B)(11) X = c..ooovviieiieecie et [2]

(iii) Find the maximum integer value of x if g(x) > 10.

Answer (b) X = ..c.coovvieeiiieciieieeeeee e, [3]

(b) For a particular function, the domain and range are as follows:

Domain Range

2 5
3

4 7
5 8
6 r
m y

(i) Find the value of 7.
Answer (b) (1) 7= ....coviiiiiiii s eveneeeenn[1]

(ii) Express y in terms of m.

Answer (d) (1) Y= .....cccooviiviiiiiiniinieneneneenen [ 2]
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3 Siphelele has 8 socks in a drawer.
5 of the socks are black.

3 of the socks are white.

(a) Find the probability of choosing a white sock from Siphelele’s drawer.

Answer (@) ...........coovievveeeieeiieeeeeeeenenn 1]

Siphelele takes out a sock at random, writes down its colour and puts it back into the
drawer.

Then Siphelele takes out a second sock, at random, and writes down its colour.

(b) (i) Complete the probability tree diagram.

Second sock

Black
First sock
>
8 Black
White
Black
........... White
White
[3]
(ii) Work out the probability that the two socks are of same colour.
Answer (b)(11) .....ooovvveeeii i [2]
(iii) Work out the probability that the two socks are of different colours.
Answer (b)(111) .....oevviieiiei i [ 2]
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4  Atree was planted when its height was 90 cm.

The height of the tree was then measured over a period of 112 days.

The cumulative frequency curve below shows the height of the tree over the 112 days.

120
100 7
% /

80 y
Number 60 .
of days /]
(Cumulative .
Frequency) /

40 A

,/
,/
20 y
% /
0
90 100 110 120 130 140 150
Height (cm)
(a) Complete the cumulative frequency table
Height (cm) Number of days (frequency) Cumulative Frequency

90 0 0

100 5

110 22

120 30 57

130 31 88

140 106

150 6 112

(3]
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(b) Find the number of days it took for the tree to reach a height of 115 cm.

ANSWEr (B) oovveiiiiiii [2]

(¢) Find the height of the tree after 90 days.

ANSWET (C) oo, cm [2]
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5 (a) Simplify.

(i) 3Qa-b)-b

Answer (@)(1) .o.oovviiiiiiiiiiiiiiiiee e [ 2]

Answer (@)(i1) .....o.oovvveeiiiiiiiiiiiiiiieiieee e [3]

(b) (i) Factorise.
x*—8xy

Answer (B)(1) .o.oovviiiiiiiiiiiiiiiiiiiie e 1]

(ii) Given that x> + 13x — 48 = (x + a)(x — b), find the values of @ and b.

ANSWeEr (B)(11) @ = ....ooiiiiiiii e

D= e [2]

© ECESWA 2024 519/0/N/24



(¢) Solve.

(i) 20+5)=302x-7)

(i) 1-7x>2x+3

(iv) ¥—64=0

(d) Make ¢ the subject of the formula.

15a

G=14_,

© ECESWA 2024

Answer (c)(1)x =

Answer (c)(ii)

Answer (c)(iii) =

Answer (c)(iv) x

Answer (d) t =

519/0/N/24
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(e) Solve the simultaneous equations.

4x+2y=5
3Ix—6y=6

ANSWEr (€) X = ..ot e

10

6 The table shows values of x and y connected by the equation y = 15 — x2+ 2x.
X -4 | -3 | -2 -1 0 1 2 3 6
y=15-x>+2x | p 0 7 12 15 q 15 12
(a) Work out the values of p, g and r.
ANSWEF (@) P = ..o e e
q:
r= . [2]
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(b) Using the set of axes below, draw the graph of y = 15 — x>+ 2x.
B \

>
X
(3]
(¢) Use your graph to solve the following equations:
i 15-x*+2x=5
Answer (€)A) X = ...ccovvee . OTX = o[ 2]
(i) 15-x>+2x=x+3
Answer (c)i) X = .....coeeeee. OTX = o[ 3]
(d) Expand and simplify.
(x+6)(x—4)
Answer (d) ........ccovvvii i 2]
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7 (a) Intriangle ABC, BH is perpendicular to AC.
AC=19cm, BH = 11cm, angle BAH = 39°.
B
NOT TO
SCALE
1lcm
y 39 ] c
H
19 cm
(i) Find the length of 4AH.
ANSWEF (@)(1) weveeveeeeeiieeieeeee e cm [2]
(ii) Calculate the length of BC.
AnSWer (@)(11) ..cveeeeveeeeiieeiieeieeeeree e cm [3]
(iii) Calculate angle BCH.
AnSwer (@)(I11) ..oooveeereecrieieeieeie e ereere e °[2]
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(b) From the top of a 200 metres high building, the angle of depression to the bottom
of a second building is 20°.
2(9 NOT TO
< SCALE
=
o
S
Q
(i) Find the distance between the two buildings.
ANSWEF (D)(1) wovveveeieeieeieeieee e m [2]
From the same point, the angle of elevation to the top of the second building is 10°
,,,./1’(’,0> NOT TO
2(9 SCALE

£

o

S

Q

(ii) Calculate the height of the second building.
Answer (B)(11) ..ocvevceeeceeeieeieeieee e m [3]
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8 (a) OABis atriangle.
—
O4=a
—
OB=b B
P
b
o > A
a
.
(i) Find 4B in terms of a and b.
ANSWEF (@)(1) vvereeieeieeieeieeie e m [1]
P is a point on AB such that AP : PB =3:1.
(ii) Find OP in terms of a and b.
Give your answer in its simplest form.
AnSWer (@)(11) .occvevveeieeieeieeiecie e [3]
(b) Given thatp = ((I)J and q = (éj , find |2p - CI| .
ANSWET (B) .o [3]
2 -1 .
(¢) u= (SJ and q = (_4] , show that u is parallel to v.
ANSWEF (C) e 2]
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9  Musa has 3 tennis balls in his bag. Two of the balls are green and one is red.
Nhlanhla has 5 tennis balls in his bag. Three of the balls are red and two are green.
Each of them picks a ball from their bag at random.

(a) Draw a possibility space diagram to show all the possible outcomes.

(2]
(b) Find the probability that at least one of the balls is red.

AnSWer (b) ....ooccvvecveecreeiennennn. [2]

© ECESWA 2024 519/0/N/24



16
BLANK PAGE

Permission to reproduce items where third-party owned material protected by copyright is included has been sought and cleared where
possible. Every reasonable effort has been made by the publisher (ECESWA) to trace copyright holders, but if any items requiring
clearance have unwittingly been included, the publisher will be pleased to make amends at the earliest possible opportunity.

© ECESWA 2024 519/0/N/24



